DZ20 R5IZEEIIMTIRRIEES

1iEMRERE

DZ20F I B SM miEE 28 (LA N EIFRITISRS), HANELEZAB/E/9660V, Zm50Hz, EiEL
EEBE3BOVRILT, HEUEBRMMI2AZE1250A, —RIENEER, HEFCEAEERRI0ARILT
. 630BU R AT FBRAIMT B SRR Al YE R RIPEB BN, TEERBER T, WSS 5 BRI R INEE
4 N BB s A AR EE 2 h < Al

EoFB FRMfERSE, TEECEEME TR ECEAE, BAfEA&LEKERSSHNTE. EIRER.

{FIPEBENYL RN IS SRR ECFE 4R o M ER BB FE s RO BN s 4 h o Wi LA AE D BB B RIS
. REERIRP.

ZERYh, FRERIMERTRMNI00A~630ANFT RILTHEIERS, SF2EH
UeiE. SeERmBRIERIEIEM, TENFAMSLAOEMIRS, 2B TERN T HbIGR
FREBI7FR,

FEtnE: GB/T14048.2. IEC 60947-2,

2BRSEEN

Dz 2000-00/0000

—( L RERS a
BERSb
pRinge H R MM S (WRT)
WG =)
BER C
FREREEBIR
BUERBRIZES S e sl d
BItS
BRI TR RS 25

ﬂu = DX/E
aBAFRLNS, EREFRATERR,
b ACEBHTIESE LS, RIFBa AR ETR;
CFREERIELNS, BiR(EAPETR, HaF R RGERER/I1250AF Mk
NFAR);
d REERIRRRE DR NSRS/ C- &5 V- —RREL,

=1
MRS SR e szt et
B b EE
G 200 300
sl 208 308
PaymilEin S 210 310
ZRAEENRSL 220 320
REBERINES 230 330
SHIBRINES —RimEnfsL 240 340
SEIRNES REBERINES 250 350
PO4E4EAEN sk 260 360
T RtEEpRDsk TEBIERGINGE 270 370
SRREINES R AL 218 318
—iAsEEpRDsk IRE R 228 328
REBEBAIRE RERSL 238 338
SEIRNEE bRk IRE R 248 348
POeEEEN bk REARSL 268 368
REBIERGINGE HENADSL RERLL 278 378

BERARR TS IR | 188

=8

g




BCREFEES

aKFTNIS AP IRIEREIEE, BE—SWESTP AR RISEFANENTE ;
b FERERI00A, 225ATIEEE, AWMLY —ER, —81H, HRUiKssSHEH
TR, ZEAmLAR;

CIREmSIIN—FEFF. —BHHL; DZ20C-160THRE LB N NIRIEMIL,
DZ20-1250Fk R Z sk ;

dﬁg&if&wom 225AEFI§‘5248 278, 348, 3785’9%}@%;

f.DZ20C716036230\ 330, 238, 338, 250, 350, 270, 370##%;
g.DZ20-12504230, 330, 238, 338, 250. 350. 270, 370#l1%,

3 FERASH

3. ISR E R ASH (W ER2)

x2
B En
= HELE HEgs SEIHEDKAGYE Hrsaca 1RIEEIRE
BS wE e o AR B
BEUe(V) BEVi(V) lcu/cos ¢ lcs/cos d In A 55 2 x=
R/DES mm
DZ20Y-100 |3P 380 660 18/0.30 14/0.30 32,40,50,6380, 100 1500 8500 120 80
DZ20C-160 |3P 380 660 12/0.30 8/0.5 100, 125, 160 1000 7000 120 80

DZz20Y-225 (3P 380 660 25/0.25 19/0.30 125, 160, 180, 200, 225 1000 7000 120 80

DZ20Y-400 (3P 380 800 30/0.25 23/0.25 250, 315, 350, 400 1000 4000 60 100

DZ20Y-630 (3P 380 800 30/0.25 23/0.25 500, 630 1000 4000 60 100

DZ20Y-1250|3P 380 800 50/0.25 32.5/0.25800, 1000, 1250 500 2500 20 120

3.2 WSS iE I RIFR R B EE(ER3)

%3
. BoFB FRAERERIRATANIE | FRENVIRIFREREREEREIENE | SARIEERIRIFER BB (s)
S BEEEI(ARAE | BRIEEEI(ARAE ENIEIRTEENI(A)
ECEs F:
In<40A:500
In<40A:500,£20% In<40A:600,£20% In>40A:14In
DZ20Y-100 | 10> 40A:10In,£20% | In>40A:121n,20% YR A
In<40A:600
In>40A:17In
<0.2
DZ20C-160 10In,+20% 12In,+20%
DZ20Y-225 10In,+20% 12In,+20% ARE 1 21N
DZ20Y-400 10In,+20% 12In,+20% EEENHLERIF A 1410
DZ20Y-630 10In,+20% 12In,+20%
DZ20Y-1250 | 7In,+20% - ELEBFE:10In
3.3 WrE=s R
3.3.1 BoFB BT EE 28 R AU BRI S 1 (T = 4)
=4
BE HERE .
Wi ER T In<63 In>63 _——
1 LEARBIIRTR 1.05In >1h >2h RS
2 LTERIEE 1.30In <1h <2h SRS IRKRETR
3.3.2 BRI R RS 28 = AT PRIT R4 14 (IU3R5)
x5
FS RIS B BERRGEH YEME IS
1 LIREARBRATEB TR 1.0In >2h S
2 Bkl 1.2In <2h EEFSIARETR

189 | IEZ=-EERERBRTS SRR



TERRESR

> BB RS

X} \
& >

REBERRINGE

TEEHIFEIRERE: AC220V, AC380V,
FERNEI= BB IRABEAY70%~ 110%Z [EIRT,

BE LIERBIE: AC220V. AC380V, %E@}TT (
~35%BERN, KEBERINSNE, EERTHRIN

B LB IR =R A &
3.6 IREMmL:

, BBIREBEZ T AT 5%, FL

e L/ERBE: AC220V, é’]EE;ﬂ'E@mu

73 AR 23 i P S s Tig 28

RIET bR EER

Z5{0R

EBERY70%

TEFBIERI35%RT, KIERRINSENIEE

ELHE%%%Iﬂé

3.7 ihEhARsL . R ERT R B ERNSS \JEIJHFE?D%%H\‘L AIEEiEEN AL, GRENRRLENE
B(ERG);, EEMoREeN(ERT); QEEJJ%E%E’\JKJEEBET%{’EE%K%&%Lﬁﬁ%%%@la, 1B
IBRVEIREIN00500R, HUTES SRR EIBEREUNTO00500kAT, NS85,
*6
FRERIMERR HERBEBIR(A HELFRRA)
- & hLadaih AC380V DC220V
400AKLAE 6 3 0.2
225ARLAT 3 0.4 0.14
EY
(] EE | RE | B8 =iE SR SR SR SE | RIESRE | &R
231 I/le U/Ue| cos®| T0.95ms I/le U/Ue cos® T0.95 | (®/h) BiE(s)
AC-15 10 1 0.3 1 1 0.3 120 0.05-2
DC-13 1 1 6xPe 1 1 6xPe | 120 0.05-2
£ RF225ARLATPe=30W, 400AKLA EPe=45W, Pe=Uele NfaESINEIRFE,
3.8 WTE&ERA9IMERRT 1
3.8.1 BEREN B XS R M S SR BRI N E RS EHI RS, .
BE DZ20Y-100 DZ20Y-225 DZ20Y-400 DZ20Y-630 DZ20Y-1250
BEH 175 220 230 245 275
2 EBRLER BBl
BB EE AC50Hz, 220V, 380V
E: AR EERMTEREEII RS, Al E AL RAEITIREEEI, ARARESE!
3.8.2 FaiRENEZRER T K,
0 i H
18
n n
@
~7
U U
D |
FRAFBRIAKER150mm, AEKES
200mm,250mm,300mm,350mm,400mm,500mm
=9
Bs DZ20Y-100 DZ20Y-225 DZ20Y-400 DZ20Y-630
LERTH (mm) 47 75 75 77
BEFREX TR EE P OX(E 0 0 0 0
EZ=-BERERRRS =2Mtem | 190



BCFEEE RS

4 SRR

REIIMTIRRERIUAYELAEAR G, BB, BENE. MLRSTGINEIN N EMER., MigssniRF BB LRSS
MorIThee, H'a" o M BREIN NEUFRUEREKS .
CRUMTER R A YL B A A LIRERIT AL,

5 IMERBRERT

DZ20Hf R BR (IRATELINE R RERT)

‘W1 H2
W3 I
‘ ‘ A ‘ 4-0d
° 1
I
R 2 N e
H5
] . ‘ ‘
[a)
SO I || §
B
e I
D ]
el a2
L H
H1

DZ20kf 825 (IR/E L& ZERT)

%4
1%74

W2

JMER T (mm)
ws AL

w L H w1 L1 L2 H1 H2 w2 L4 L5 H5 W3 LD
DZ20Y-100 105 165 86.5 35 - 215 103 26.5 26 69 28.5 4 - -
DZ20C-160 108 155 84 35 - - 106.5 34 30 66 32 4.5 - -
DZ20Y-225 109 256.5 105 35 329 402 142 18 35 89 53 6.5 20 36.5
DZ20Y-400 155 276 112 51 391 450 149.5 38 52 88 72 5 28 330
DZ20Y-630 210 268 107 70 378 425 150 40.5 62 90 55 5.5 40 315
DZ20Y-1250 210 406 122 70 548 588 180 ;ZS;??S;&(:;OA) 78 100 143 16 45 5115]

AR (mmm) FERT(mm) T
ws e

w1 L3 H3 H4 A B odd LA )
DZ20Y-100 35 146 55.5 55.5 35 126 5 M4X40
DZ20C-160 35 141 64 64 35 135 4.5 M4X35
DZ20Y-225 35 212.5 47 90 35 196.5 4.5 M4X40
DZ20Y-400 51 246 80 125 51 240 7 M4X40
DZ20Y-630 70 233 92 92 70 200 7 M5X45
DZ20Y-1250 70 447 - - 70 375 9 -

191 | Es-EERERRA TSI



TERRESR

6 (T35

FAFIT LB AR SR IR
abieRAIB S, BIR. REL
b BIE=RAVEE B,
CUREERRAOMMAEAR, s, AENS, REXBERNSFAOORRINEN, NEETIFEEEH=SBIREERIBEE;
dAE: EERACRRERKREBARE), BafiRF(EET),
eEE PN, MAEE( R LPRINAIELRR ), REELE,
T3,
Bugn: DZ20Y-630 =1k, BilzsEBifREERIR)630A, o RNz BRI N3R380Vi
REmL, BB, WAEL, H1005,
MEpL: DZ20Y-630/3318 630A AC380V 100&,

GES

HEET(A) 16, 20 |32 40, 50 |63 80 100 125 160 180, 200, 225 250 315, 350 400
SEHER(MM?) 2.5 6 10 16 25 35 50 70 95 120 185 240
TREL 1R

FERF(A) 500 630 800 1000 1250

SLEER(mm?) 30%5 40x5 50x5 60x5 80x5

1REX 21R

ER RE. FRNGETRERRBPIEXERINEEK,

E=-E

BERRRR S IR MR | 192

il



X-ON Electronics

Largest Supplier of Electrical and Electronic Components
Click to view similar products for Circuit Breakers category:
Click to view products by CHINT manufacturer:

Other Similar products are found below :
LUGZX66-1-61-20.0-44 M39019/01-201 M39019/01-221 M39019/04-249S M39019/04-313S M55629/1-016 M55629/1-018 M55629/1-021
M55629/1-033 M55629/1-046 M55629/1-048 M55629/1-058 M55629/1-067 M55629/1-070 M55629/1-079 M55629/1-084 M55629/1-085
M55629/1-109 M55629/11-102 M55629/12-045 M55629/12-046 M55629/1-330 M55629/1-366 M55629/1-387 M55629/1-401 M55629/2-
022 M55629/2-030 M55629/2-072 M55629/2-082 M55629/2-099 M55629/2-101 M55629/2-102 M55629/21-BM-BM M55629/21-HM-HM
M55629/21-NS-NS M55629/22-NR-NR-NR M55629/22-RS-RS-RS M55629/2-347 M55629/2-401 M55629/2-413 M55629/3-030
M55629/3-050 M55629/3-102 M55629/3-103 M55629/3-128 M55629/3-130 M55629/3-238 M55629/3-386 M55629/3-LBZB M55629/4-
115



https://www.xonelec.com/category/circuit-protection/circuit-breakers-accessories/circuit-breakers
https://www.xonelec.com/manufacturer/chint
https://www.xonelec.com/mpn/sensata/lugzx6616120044
https://www.xonelec.com/mpn/sensata/m3901901201
https://www.xonelec.com/mpn/sensata/m3901901221
https://www.xonelec.com/mpn/sensata/m3901904249s
https://www.xonelec.com/mpn/sensata/m3901904313s
https://www.xonelec.com/mpn/sensata/m556291016
https://www.xonelec.com/mpn/sensata/m556291018
https://www.xonelec.com/mpn/sensata/m556291021
https://www.xonelec.com/mpn/sensata/m556291033
https://www.xonelec.com/mpn/sensata/m556291046
https://www.xonelec.com/mpn/sensata/m556291048
https://www.xonelec.com/mpn/sensata/m556291058
https://www.xonelec.com/mpn/sensata/m556291067
https://www.xonelec.com/mpn/sensata/m556291070
https://www.xonelec.com/mpn/sensata/m556291079
https://www.xonelec.com/mpn/sensata/m556291084
https://www.xonelec.com/mpn/sensata/m556291085
https://www.xonelec.com/mpn/sensata/m556291109
https://www.xonelec.com/mpn/sensata/m5562911102
https://www.xonelec.com/mpn/sensata/m5562912045
https://www.xonelec.com/mpn/sensata/m5562912046
https://www.xonelec.com/mpn/sensata/m556291330
https://www.xonelec.com/mpn/sensata/m556291366
https://www.xonelec.com/mpn/sensata/m556291387
https://www.xonelec.com/mpn/sensata/m556291401
https://www.xonelec.com/mpn/sensata/m556292022
https://www.xonelec.com/mpn/sensata/m556292022
https://www.xonelec.com/mpn/sensata/m556292030
https://www.xonelec.com/mpn/sensata/m556292072
https://www.xonelec.com/mpn/sensata/m556292082
https://www.xonelec.com/mpn/sensata/m556292099
https://www.xonelec.com/mpn/sensata/m556292101
https://www.xonelec.com/mpn/sensata/m556292102
https://www.xonelec.com/mpn/sensata/m5562921bmbm
https://www.xonelec.com/mpn/sensata/m5562921hmhm
https://www.xonelec.com/mpn/sensata/m5562921nsns
https://www.xonelec.com/mpn/sensata/m5562922nrnrnr
https://www.xonelec.com/mpn/sensata/m5562922rsrsrs
https://www.xonelec.com/mpn/sensata/m556292347
https://www.xonelec.com/mpn/sensata/m556292401
https://www.xonelec.com/mpn/sensata/m556292413
https://www.xonelec.com/mpn/sensata/m556293030
https://www.xonelec.com/mpn/sensata/m556293050
https://www.xonelec.com/mpn/sensata/m556293102
https://www.xonelec.com/mpn/sensata/m556293103
https://www.xonelec.com/mpn/sensata/m556293128
https://www.xonelec.com/mpn/sensata/m556293130
https://www.xonelec.com/mpn/sensata/m556293238
https://www.xonelec.com/mpn/sensata/m556293386
https://www.xonelec.com/mpn/sensata/m556293lbzb
https://www.xonelec.com/mpn/sensata/m556294115
https://www.xonelec.com/mpn/sensata/m556294115

